The group G is isomorphic to the group labelled by [ 63, 3 ] in the Small Groups library.
Ordinary character table of G = C3 x (C7 : C3):

la 3a 3b Ta 21a 21b b 21c 21d 3c 3d 3e 3f 39 3h
X1 1 1 1 1 1 1 1 1 1 1 1 1 1
x2 | 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)?
xs | 1 E(3)2 E(3) 1 E(3)? E(3) 1 E(3)? E(3) 1 EB)? E@3) 1 EB)? E@3)
xa | 1 1 1 1 1 1 1 1 E(3) E@B) E@B) E@B)? E@B)? E@3)?
xs | 1 E®3) E(3)2 1 E(3) E(3)? 1 E(3) E(3)2 E(3) EMB3? 1 EQB)? 1  E@3)
X6 | 1 E(3)? E(3) 1 E(3)? E(3) 1 E(3)? E(3) E(3) 1 EQ3)? E@3)? EB 1
xr |1 1 1 1 1 1 1 1 1 E(3)2 E®B)? E3)* E@B) E@B) E@3)
xs | 1 E@3) E(3)? 1 E(3) E(3)2 1 E(3) E(3)2 E(3)2 1  E(B) E@B) E@B?2 1
xo | 1 E(3)2 E(3) 1 E(3)? E(3) 1 E(3)? E(3) E@3)? E@3) 1 E(3) 1 E(3)?
X10 | 3 3 3 E(T)+E(M)?+ E(7)4 E(T)+E(M)?+ E(7)* E(T)+E(M)?+ E(7)* E(7)3 + E(7)° + BE(7)° E(7)3 + E(7)° + B(7)° E(7)3 + E(7)° + E(7)° 0 0 0 0 0 0
xi1| 3 3xEB) 3xE3)? EMN+EDN?+EMN* ECHY+ERHB+ERHY EQL®+EQDHY+EQD® ET)?+EMS+E(TM®  E@1)+ EQD*+ E(21)  E(21)2+ E(21)% + E(21)1! 0 0 0 0 0 0
x12| 3 3xEB)? 3xEB) E(M+EM*+EM* E21)5+ERDY +E(21)%° E(21)°+ E(21)13 + E(21)19 E(M3+EM>+E(MS EC21)?+E(21)8+ER2DYT  E(21)+ E(21)* + E(21)'6 0 0 0 0 0 0
X13 | 3 3 3 E(7)3 + E(7)° + E(7)8 E(7)3 + E(7)° + E(7)8 E(7 ) E(7)° + E(7)¢ E(7)+ E(7)? + E(7)* E(7)+ E(7)? + E(7)* E(7)+ E(7)? + E(7)* 0 0 0 0 0 0
x4 | 3 3xEB) 3xE3)? E(M)3+ET’+E(MS E21)+ERH*+ER2DS  EQL?+EQLE+EQHY  E(M+E(M2+EM* EQDY+EQHB+EERDY  E(21)5+ E(21)'7 + E(21)%° 0 0 0 0 0 0
X15| 3 3xE(3)2 3xE(3) EM)*+ET)P+ET EQR1)2+EQ21)+EQ2DY  EQL)+EQD*+EQDY  ET)+ET*+ET* E@21)°+EQDY +E21)% EQDY+EQHB+EQDY 0 0 0 0 0 0
Trivial source character table of G = C3 x (C7 : C3) at p = 3:
Normalisers N; Ny Ny N3 | Ny | N5 | Ng
p-subgroups of G up to conjugacy in G P P, Py | Py | P | Bs
Representatives n; € N; la 7a b la 7 Ta la | la | la | la
l-x14+1-x24+1-x34+1-xa+1-x5+1-x6+1-x7+1-xs+1-x9+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15| 9 9 9 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+1-x0+1-x11+1-x12+0-x13+0-x14+0-x15| 9 3+xET)+3xE(M)2+3xE(7N* 3+xET)>?+3+xE(T)>+3+xE(T)°%| 0 0 0 0Ol 0| 0| O
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-x10+0-x11+0-x12+1-x13+1-x1a+1-x15| 9 3+xETN>+3+xE(M)5+3xE(7)° 3+xE(7)+3xE(MN?+3xE(T)* | 0 0 0 0|l 0| 01O
1-x14+0-x2+0-x3+1-xa+0-x5+0-x6+1-x74+0-xs+0-x9+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15 | 3 3 3 3 3 3 0 0 0 0
0-x14+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15| 3 E(7)3 + E(7)° + E(7)° E(7)+ E(7)?2+ E(7)* 3 E(MN+EM*+EM* E(T)?+ (7) EMSL 00010
0-x14+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+1-x10+0-x11+0-x12+0-Xx13+0-x14+0-x15| 3 E(T)+ E(7)>+ E(7)* E(7)3+ E(7)° + E(7)8 3 E(M}+EMN+EMN EM+ET*+EMD* | 0] 0] 0]0
T-x1+1-xo+1-x3+0-x44+0-x5+0-x6+0-x74+0-xs+0-xo+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15| 3 3 3 0 0 0 31010710
1-x1+0-x24+0-x34+0-xa+0-x5+1-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15| 3 3 3 0 0 0 0 3 0 0
1-x14+0-x2+0-x3+0-xa+1-x5+0-x6+0-x74+0-xs+1-xo+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15 | 3 3 3 0 0 0 0 0 3 0
1-x14+0-x24+0-x34+0-x4+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15| 1 1 1 1 1 1 1 1 1 1
Py = Group([()]) = 1
P, = Group([(1,3,8)(2,6,13)(4,9,16)(5, 11, 19)(7, 14, 22)(10, 17, 25)(12, 20, 28) (15, 23, 31) (18, 26, 34) (21, 29, 37) (24, 32, 40)(27, 35, 43) (30, 38, 46) (33, 41, 49) (36, 44, 52) (39, 47, 54)(42, 50, 57) (45, 53, 59) (48, 55, 60) (51, 58, 62) (56, 61, 63)])
Group([(1,2,5)(3,6,11)(4, 15,39)(7, 21, 27)(8, 13,19)(9, 23, 47)(10, 33, 12) (14, 29, 35) (16, 31, 54) (17, 41, 20) (18, 51, 48) (22, 37, 43)(24, 56, 36) (25, 49, 28) (26, 58, 55)(30, 45, 42) (32, 61, 44) (34, 62, 60) (38, 53, 50) (40, 63, 52) (46, 59, 57)]) =
P, = Group([(1,6,19)(2,11,8)(3,13,5)(4, 23, 54)(7 29,43)(9,31,39)(10,41,28)(12,17,49)(14, 37,27)(15,47,16)(18, 58, 60)(20, 25, 33)(21, 35, 22)(24, 61, 52)(26, 62, 48)(30, 53, 57)(32, 63, 36) (34, 51, 55)(38, 59, 42) (40, 56, 44) (45, 50, 46)]) = C3
Group([(1,11,13)(2, 3,19)(4, 47,31)(5,6,8)(7, 35,37)(9, 54, 15)(10, 20, 49)(12, 41, 25)(14, 43, 21)(16, 39, 23)(17, 28, 33) (18, 55, 62)(22, 27, 29) (24, 44, 63)(26, 60, 51) (30, 50, 59)(32, 52, 56) (34, 48, 58)(36, 61, 40) (38, 57, 45) (42, 53, 46)]) =
Ps = Group([(1, 3,8)(2,6,13)(4,9,16)(5,11,19)(7, 14, 22)(10, 17, 25)(12, 20, 28) (15 23,31)(18,26,34)(21,29,37)(24,32,40)(27,35,43)(30,38,46)(33,41749)(36,44,52)(39,47, 54)(42, 50, 57)(45,53,59)(48, 55,60)(51, 58, 62)(56, 61, 63), (1,2,5)(3,6,11)(4, 15,39)(7, 21, 27)(8,13,19)(9, 23,47)(10, 33,12)(14, 29, 35) (16, 31, 54) (17,41, 20)(18, 51, 48)(22, 37,43) (24, 56, 36) (25, 49, 28)(26, 58, 55) (30, 45, 42)(32, 61, 44)(34, 62, 60)(38, 53, 50)(40, 63, 52) (46, 59, 57)]) = C3 x C3
Ny = Group([(1,2,5)(3,6,11)(4, 15,39)(7, 21, 27)(8, 13, 19)(9, 23, 47)(10, 33, 12) (14, 29, 35) (16, 31, 54) (17, 41, 20) (18, 51, 48) (22, 37, 43) (24, 56, 36) (25, 49, 28) (26, 58, 55)(30, 45, 42) (32, 61, 44) (34, 62, 60) (38, 53, 50) (40, 63, 52)(46, 59, 57), (1, 3,8)(2, 6, 13)(4,9,16) (5, 11, 19)(7, 14, 22)(10, 17, 25)(12, 20, 28)(15, 23, 31) (18, 26, 34) (21, 29, 37) (24, 32, 40)(27, 35, 43)(30, 38, 46) (33, 41, 49) (36, 44, 52)(39, 47, 54) (42, 50, 57) (45, 53, 59) (48, 55, 60) (51, 58, 62) (56, 61, 63), (1,4, 10, 18, 27, 36, 45)(2, 7, 15, 24, 33, 42,51)(3, 9, 17, 26, 35, 44, 53) (5, 12, 21, 30, 39, 48, 56) (6, 14, 23, 32, 41, 50, 58)(8, 16, 25, 34, 43, 52, 59) (11, 20, 29, 38,47, 55, 61)(13, 22, 31,40, 49, 57, 62) (19, 28, 37, 46, 54, 60, 63)]) = C3 x (C7 : C3)
Ny = Group([(1,3,8)(2,6,13)(4,9,16)(5, 11 19)(7, 14 22)(10,17,25)(12,20,28)(15,23,31)(18,26,34)(21,29,37)(24,32,40)(27, 35,43)(30, 38, 46)(33,41,49)(36, 44, 52)(39, 47, 54) (42, 50, 57) (45, 53, 59) (48, 55, 60) (51, 58, 62)(56, 61, 63), (1, 2,5)(3,6,11)(4, 15,39)(7, 21, 27)(8,13,19)(9, 23,47)(10, 33, 12)(14, 29, 35)(16, 31, 54) (17, 41, 20)(18, 51, 48) (22, 37, 43) (24, 56, 36) (25, 49, 28)(26, 58, 55) (30, 45,42)(32, 61, 44) (34, 62, 60)(38, 53, 50) (40, 63, 52)(46, 59, 57), (1,4, 10, 18,27, 36,45)(2, 7, 15, 24, 33,42, 51)(3,9, 17, 26, 35, 44, 53)(5, 12, 21, 30, 39, 48, 56) (6, 14, 23, 32, 41, 50, 58)(8, 16, 25, 34, 43,52, 59)(11, 20, 29, 38, 47,55, 61)(13, 22, 31, 40, 49, 57, 62) (19, 28, 37, 46, 54, 60, 63)]) = C3 x (C7 : C3)
N3 = Group([(1,2,5)(3,6,11)(4,15 39)(7,21,27)(8,13,19)(9, 23,47)(10, 33,12)(14, 29, 35)(16, 31, 54)(17,41,20)(18, 51, 48)(22, 37, 43)(24, 56, 36)(25, 49, 28) (26, 58, 55)(30, 45, 42)(32, 61, 44)(34, 62, 60)(38, 53, 50)(40, 63, 52) (46, 59, 57), (1, 3, 8)(2, 6, 13)(4, 9, 16)(5,11 19)(7, 14 22)(10,17, 25)(12, 20, 28)(15, 23,31)(18, 26, 34)(21, 29, 37)(24, 32,40)(27, 35, 43)(30, 38,46)(33, 41, 49) (36, 44, 52)(39, 47, 54) (42, 50, 57) (45, 53, 59) (48, 55, 60) (51, 58, 62) (56, 61, 63)]) = C3 x C3
N, = Group([(1,6,19)(2,11,8)(3,13,5)(4, 23, 54)(7 29,43)(9, 31,39)(10, 41,28)(12,17,49)(14, 37,27)(15,47,16)(18, 58, 60)(20, 25, 33) (21, 35, 22)(24, 61, 52) (26, 62, 48)(30, 53, 57) (32, 63, 36)(34, 51, 55) (38, 59, 42)(40, 56, 44)(45, 50, 46), (1,2, 5)(3,6, 11)(4, 15,39)(7, 21, 27)(8, 13, 19)(9, 23,47)(10, 33, 12)(14, 29, 35)(16, 31, 54) (17,41, 20)(18, 51, 48)(22, 37, 43) (24, 56, 36)(25, 49, 28) (26, 58, 55)(30, 45, 42)(32, 61, 44)(34, 62, 60) (38, 53, 50) (40, 63, 52)(46, 59, 57)]) = C3 x C3
N5 = Group([(1,11,13)(2,3,19)(4, 47, 31)( ,8)(7,35,37)(9,54,15)(10, 20, 49)(12, 41, 25)(14, 43, 21)(16, 39, 23) (17, 28, 33) (18, 55, 62) (22, 27, 29) (24, 44, 63)(26, 60, 51) (30, 50, 59) (32, 52, 56) (34, 48, 58) (36, 61, 40)(38, 57, 45) (42, 53,46), (1,2, 5)(3,6, 11)(4, 15,39)(7, 21, 27)(8,13,19)(9, 23, 47)(10, 33, 12) (14, 29, 35) (16, 31, 54) (17, 41, 20) (18, 51, 48) (22, 37, 43) (24, 56, 36) (25, 49, 28)(26, 58, 55) (30, 45, 42) (32, 61, 44) (34, 62, 60) (38, 53, 50) (40, 63, 52) (46, 59, 57)]) = C3 x C3
Ng = Group([(1,2,5)(3,6,11)(4, 15,39)(7, 21, 7)(8, 13,19)(9,23,47)(10, 33,12)(14, 29, 35)(16, 31, 54) (17, 41, 20) (18, 51, 48) (22, 37, 43) (24, 56, 36) (25, 49, 28) (26, 58, 55) (30, 45, 42) (32, 61, 44) (34, 62, 60)(38, 53, 50) (40, 63, 52) (46, 59, 57), (1, 3,8)(2, 6,13)(4, 9, 16) (5, 11, 19)(7, 14, 22)(10, 17, 25)(12, 20, 28) (15, 23, 31)(18, 26, 34) (21, 29, 37) (24, 32, 40)(27, 35, 43)(30, 38, 46) (33, 41, 49) (36, 44, 52)(39, 47, 54) (42, 50, 57) (45, 53, 59) (48, 55, 60) (51, 58, 62) (56, 61, 63)]) = C3 x C3



